
489874 - RO 150 E  240V 14/01/2013

CD identifier: 1



489874 - RO 150 E  240V

Pos Part No. Description Quantity Price Currency

3 446002 Slide switch 1 5.45 AUD

4 439381 Cord 1 43.07 AUD

5 487674 Cap 1 51.05 AUD

7 435103 Plastic screw 1 2.09 AUD

8 400233 Raised-head screw  3,5 x 25 mm 4 1.71 AUD

9 400234 Raised-head screw  M4 x 10 4 1.83 AUD

10 446277 Gear housing 1 58.48 AUD

11 228715 Ball bearing 1 11.19 AUD

12 457184 Weight 1 28.43 AUD

13 444914 Housing 1 100.78 AUD

14 400065 Ball bearing 1 20.06 AUD

15 401246 Snap ring 1 2.21 AUD

16 445171 Eccentric shaft 1 44.93 AUD

17 487800 Switch 1 44.10 AUD

18 486643 Gear 1 99.87 AUD

19 487865 ZG-RAS/RO 1 19.64 AUD

20 442536 Packing strip 1 1.71 AUD

21 228746 Ball bearing 1 16.14 AUD

22 204471 Snap ring 1 1.71 AUD

23 485108 Fan 1 13.58 AUD

24 228672 Ball bearing 1 17.94 AUD

25 444018 Solenoid ring 1 4.89 AUD

28 457185 Weight 1 57.92 AUD

29 451633 Bearing bolt 1 29.73 AUD

30 400048 Ball bearing 2 22.39 AUD

31 200619 Snap ring 1 1.71 AUD

32 489161 Gear 1 177.05 AUD

33 451886 Switching ring 1 45.60 AUD

34 453584 Cheese head screw  M4 x 6 4 1.97 AUD

36 446275 Key fastening 1 4.21 AUD

37 202752 Screwdriver 1 7.07 AUD

39 228663 Raised-head screw  3,5 x 16 mm 3 1.83 AUD

40 439662 Cable clamp 1 1.71 AUD

41 487794 Switch linkage 1 14.82 AUD

42 484561 Rubber collar 1 34.59 AUD

43 400235 Raised-head screw  M3 x 8 6 1.97 AUD

44 444257 Sealing lip 1 11.19 AUD

46 485802 Screw 1 1.83 AUD

47 492208 Switching ring 1 61.75 AUD

48 233066 O-ring  60 x 1,5 mm 1 2.89 AUD

14/01/2013

CD identifier: 2


